### **ATTACHMENT #4**

# MEMORANDUM

## CITY/BOROUGH OF JUNEAU

155 SOUTH SEWARD STREET, JUNEAU, ALASKA 99801

#### FAXED MEMORANDUM

TO: Renee Loree CBJ Purchasing Officer April 11, 2017

FROM: Greg Smith Contract Administrator

File: 1926

SUBJ: POSTING NOTICE OF BIDS Juneau International Airport (JNU) Air Cargo Hardstand Contract No. BE17-223

This memo is to post a notice of the results of the bid opening on April 11, 2017, for the subject project. The bidders and their bids are as follows:

Bidders	Base bid	Additive Alternate No. 1	Total bid
SECON	\$441,610.00	\$29,280.00	\$470,890.00
Southeast Earthmovers	\$466,195.00	\$29,965.00	\$498,160.00
Glacier State Contractors	\$535,695.00	\$33,775.00	\$569,740.00
Pacific Coast Paving, Inc.	\$626,814.60	\$32,349.80	\$659,164.40
Engineer' Estimate	\$615,050.00	\$27,200.00	\$642,250.00

The apparent low bidder is SECON. The CBJ intends to award the Base Bid and Additive Alternate No. 1 in the amount of \$470,890.

This notice begins the protest period per Purchasing Code 53.50.062. Protests will be executed in accordance with CBJ Ordinance 53.50.062 "Protests", and 53.50.080 "Administration of Protest." The CBJ Purchasing Code is available online at: <u>http://www.juneau.org/law</u> or from the CBJ Purchasing Division at (907) 586-5258.

The apparent low bidder has until the close of business on April 18, 2017, to submit the Subcontractor Report, Section 00360 to the Engineering Department Contracts Office. The Subcontractor Report must be submitted even if there are no subcontractors planned for the job.

c. Bidders Ken Nichols, Project Manager



Reviewe	
SUMMARY	
BID (	

BID SU	BID SUMMARY Reviewed by: Janet Sanbei	anet Sanbei					Certified by: (	Certified by: Greg Smith	ŝ
Project Title Juneau In Contract No BE17-223	Project Title Juneau International Airport (JNU) Air Cargo Hardstand Contract No BE17-223	jo Hardstand		Engineer	Engineer's Estimate	POB	SECON PO Box 32159	Southeast Ea	Southeast Earthmovers, Inc. PO Box 784
Bid Openin	Bid Opening Date: April 11, 2017	File No.: 1926 CIP No.: A50-068	6 068			Juneau	Juneau, AK 99803	Sitka, A	Sitka, AK 99835
PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
G-100a	MOBILIZATION AND DEMOBILIZATION	<b>LUMP SUM</b>	ALL REQUIRED	Lump Sum	\$ 50,000.00	Lump Sum	\$ 17,000.00	Lump Sum	\$ 45,500.00
G-135a	CONSTRUCTION SURVEYING BY THE CONTRACTOR	LUMP SUM	ALL REQUIRED	Lump Sum	\$ 15,000.00	Lump Sum	\$ 10,000.00	Lump Sum	\$ 8,600.00
G-200a	CONTRACTOR QUALITY CONTROL PROGRAM	LUMP SUM	ALL REQUIRED	Lump Sum	\$ 10,000.00	Lump Sum	\$ 5,000.00	Lump Sum	\$ 12,600.00
G-700a	AIRPORT FLAGGER	CONTINGEN T SUM	ALL REQUIRED	Contingent Sum	\$ 10,000.00	Contingent Sum	\$ 10,000.00	Contingent Sum	\$ 10,000.00
P-152a	UNCLASSIFIED EXCAVATION	CUBIC YARD	660	\$ 15.00	00.006,9	\$ 25.00	\$ 16,500.00	\$ 22.00	\$ 14,520.00
P-157a	EROSION, SEDIMENT AND POLLUTION CONTROL ADMINISTRATION	LUMP SUM	ALL REQUIRED	Lump Sum	\$ 5,000.00	Lump Sum	\$ 3,000.00	Lump Sum	\$ 4,500.00
P-157c	TEMPORARY EROSION, SEDIMENT AND POLLUTION CONTROL	RUMP SUM	ALL REQUIRED	Lump Sum	\$ 10,000.00	Lump Sum	\$ 2,000.00	Lump Sum	\$ 1,100.00
P-157f	WITHHOLDING	CONTINGEN T SUM	ALL REQUIRED	\$ 2,000.00	\$ 2,000.00	Contingent Sum	\$ 2,000.00	Contingent Sum	\$ 2,000.00
P-160a	EXCAVATION OF PAVEMENT (AC)	SQUARE YARD	1 070	\$ 5.00	\$ 5,350.00	\$ 8.00	\$ 8,560.00	\$ 15.00	\$ 16,050.00
P-209b	CRUSHED AGGREGATE BASE COURSE	TON	740	\$ 35.00	\$ 25,900.00	\$ 35.00	\$ 25,900.00	\$ 60.00	\$ 44,400.00
P-401h	HOT MIX ASPHALT TYPE II, CLASS E	TON	140	\$ 210.00	\$ 29,400.00	\$ 160.00	\$ 22,400.00	\$ 160.00	\$ 22,400.00
P-501a	PORTLAND CEMENT CONCRETE PAVEMENT	CUBIC YARD	225	\$ 1,100.00	\$ 247,500.00	\$ 1,150.00	\$ 258,750.00	\$ 1,025.00	\$ 230,625.00
P-620c	RUNWAY AND TAXIWAY PAINTING	LUMP SUM	ALL REQUIRED	Lump Sum	\$ 30,000.00	Lump Sum	\$ 10,000.00	Lump Sum	\$ 26,000.00
P-620e	PAINTED MARKING REMOVAL	SQUARE FOOT	2 000	\$ 20.00	\$ 40,000.00	\$ 17.00	\$ 34,000.00	\$ 5.00	•\$ 10,000.00
P-620g	TEMPORARY RUNWAY AND TAXIWAY PAINTING	LUMP SUM	ALL REQUIRED	Lump Sum	\$ 15,000.00	Lump Sum	\$ 8,000.00	Lump Sum	\$ 11,000.00
P-670b	FLASHER UNIT FOR PLASTIC BARRIER	EACH	100	\$ 75.00	\$ 7,500.00	\$ 60.00	\$ 6,000.00	\$ 60.00	\$ 6,000.00
P-670c	FLAG	EACH	100	\$ 25.00	\$ 2,500.00	\$ 25.00	\$ 2,500.00	\$ 9.00	\$ 900.00
	Total Base Bid				\$ 515,050.00		\$ 441,610.00		\$ 466,195.00

# ATTACHMENT #4

Page 1 of 4

BID SUMMARY Reviewed by: Janet Sanbei

Certified by: Greg Smith

,

							certified by. Greg Stillel	reg onnu	
Project Title.	Project Title Juneau International Airport (JNU) Air Cargo Hardstand	o Hardstand							
Contract No BE17-223	BE17-223			Engineer	Engineer's Estimate	SEC PO Boy	SECON PO Box 32159	Southeast Earthmovers, Inc. PO Box 784	hmovers, Inc. x 784
Bid Opening	Bid Opening Date: April 11, 2017	File No.: 1926 CIP No.: A50-068	5 068			Juneau, /	Juneau, AK 99803	Sitka, AK 99835	( 99835
PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	UNIT PRICE QUANTITY UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT

PAV ITEM	Additive Alternate No. 1 -									
	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	UNIT PRICE QUANTITY UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE		AMOUNT
P-152a UN	P-152a UNCLASSIFIED EXCAVATION	CUBIC YARD	70	\$15 \$	1,050.00	\$ 25.00 \$	\$ 1,750.00 \$		22.00 \$	1,540.00
P-160a EX	EXCAVATION OF PAVEMENT (AC)	SQUARE YARD	110	\$5	\$ 550.00	\$ 8.00	\$ 880.00	\$ 15.00 \$	\$	1,650.00
P-209b CR	P-209b CRUSHED AGGREGATE BASE COURSE	TON	80	\$35 \$	\$ 2,800.00	\$ 35.00 \$	\$ 2,800.00	Ф	60.00 \$	4,800.00
P-401h HO	P-401h HOT MIX ASPHALT TYPE II, CLASS E	TON	30	\$210 \$	\$ 6,300.00	\$ 220.00 \$	6,600.00	\$ 220.00 \$	\$	6,600.00
P-501a PO	PORTLAND CEMENT CONCRETE PAVEMENT	CUBIC YARD	15	\$1,100 \$	\$ 16,500.00	\$ 1,150.00	\$ 1,150.00 \$ 17,250.00	\$ 1,025.00 \$	\$	15,375.00
Tot	Total Additive Alternate No. 1				\$ 27,200.00		\$ 29,280.00		\$	29,965.00

### **ATTACHMENT #4**

Page 2 of 4

<b>BID SU</b>	BID SUMMARY Reviewed by: Janet Sanbei	anet Sanbei							
Project Title Juneau In Contract No BE17-223	Project Title Juneau International Airport (JNU) Air Cargo Hardstand Contract No BE17-223	o Hardstand		Engineer	Engineer's Estimate	Glacier Statt PO Bo	Glacier State Contractors PO Box 32894	Pacific Coas PO Bo	Pacific Coast Paving, Inc. PO Box 32638
Bid Openin	Bid Opening Date: April 11, 2017	File No.: 1926 CIP No.: A50-068	6 -068			Juneau,	Juneau, AK 99803	Juneau,	Juneau, AK 99803
PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
G-100a	MOBILIZATION AND DEMOBILIZATION	<b>LUMP SUM</b>	ALL REQUIRED	Lump Sum	\$ 50,000.00	Lump sum	\$ 35,000.00	Lump Sum	\$ 37,000.00
G-135a	CONSTRUCTION SURVEYING BY THE CONTRACTOR	<b>LUMP SUM</b>	ALL ŘEQUIRED	Lump Sum	\$ 15,000.00	Lump sum	\$ 10,000.00	Lump Sum	\$ 16,000.00
G-200a	CONTRACTOR QUALITY CONTROL PROGRAM	TUMP SUM	ALL REQUIRED	Lump Sum	\$ 10,000.00	Lump sum	\$ 12,000.00	Lump Sum	\$ 4,132.00
G-700a	AIRPORT FLAGGER	CONTINGEN T SUM	ALL REQUIRED	Contingent Sum	\$ 10,000.00	Contingent Sum	\$ 10,000.00	Contingent Sum	\$ 10,000.00
P-152a	UNCLASSIFIED EXCAVATION	CUBIC YARD	660	\$ 15.00	\$ 9,900.00	\$ 22.00	\$ 14,520.00	\$ 50.00	\$ 33,000.00
P-157a	EROSION, SEDIMENT AND POLLUTION CONTROL ADMINISTRATION	LUMP SUM	ALL REQUIRED	Lump Sum	\$ 5,000.00	Lump sum	\$ 4,000.00	Lump Sum	\$ 7,000.00
P-157c	TEMPORARY EROSION, SEDIMENT AND POLLUTION CONTROL	LUMP SUM	ALL REQUIRED	Lump Sum	\$ 10,000.00	Lump sum	\$ 4,000.00	Lump Sum	\$ 3,500.00
P-157f	WITHHOLDING	CONTINGEN T SUM	ALL REQUIRED	\$ 2,000.00	\$ 2,000.00	Contingent Sum	\$ 2,000.00	Contingent Sum	\$ 2,000.00
P-160a	EXCAVATION OF PAVEMENT (AC)	SQUARE YARD	1 070	\$ 5.00	\$ 5,350.00	\$ 22.50	\$ 24,075.00	\$ 4.18	\$ 4,472.60
P-209b	CRUSHED AGGREGATE BASE COURSE	TON	740	\$ 35.00	\$ 25,900.00	\$ 60.00	\$ 44,400.00	\$ 53.00	\$ 39,220.00
P-401h	HOT MIX ASPHALT TYPE II, CLASS E	TON	140	\$ 210.00	\$ 29,400.00	\$ 180.00	\$ 25,200.00	\$ 190.00	\$ 26,600.00
P-501a	PORTLAND CEMENT CONCRETE PAVEMENT	CUBIC YARD	225	\$ 1,100.00	\$ 247,500.00	\$ 1,172.00	\$ 263,700.00	\$ 1,230.00	\$ 276,750.00
P-620c	RUNWAY AND TAXIWAY PAINTING		ALL REQUIRED	Lump Sum	\$ 30,000.00	Lump sum	\$ 24,000.00	Lump Sum	\$ 30,577.00
·P-620e	PAINTED MARKING REMOVAL	SQUARE FOOT	2 000	\$ 20.00	\$ 40,000.00	\$ 16.00	\$ 32;000.00	\$ 54.60	\$ •109,200.00
P-620g	TEMPORARY RUNWAY AND TAXIWAY PAINTING	LUMP SUM	ALL REQUIRED	Lump Sum	\$ 15,000.00	Lump sum	\$ 8,500.00	Lump Sum	\$ 20,563.00
P-670b	FLASHER UNIT FOR PLASTIC BARRIER	EACH	100	\$ 75.00	\$ 7,500.00	\$ 190.00	\$ 19,000.00	\$ 58.00	\$ 5,800.00
P-670c	FLAG	EACH	100	\$ 25.00	\$ 2,500.00	\$ 33.00	\$ 3,300.00	\$ 10.00	\$ 1,000.00
	Total Base Bid				\$ 515,050.00		\$ 535,695.00		\$ 626,814.60

# ATTACHMENT #4

Page 3 of 4

BID SUMMARY Reviewed by: Janet Sanbei

Pacific Coast Paving, Inc. Juneau, AK 99803 PO Box 32638 **Glacier State Contractors** Juneau, AK 99803 PO Box 32894 Engineer's Estimate File No.: 1926 Project Title Juneau International Airport (JNU) Air Cargo Hardstand Contract No BE17-223 Bid Opening Date: April 11, 2017

		CIP No.: A50-068	-068						
PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	ICE QUANTITY UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Additive Alt	Additive Alternate No. 1 -								
PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	ICE QUANTITY UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT

PAY ITEM	PAY ITEM DESCRIPTION	UNIT PRICE	QUANTITY	UNIT PRICE QUANTITY UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
P-152a	P-152a UNCLASSIFIED EXCAVATION	CUBIC YARD	70	\$15 \$	\$ 1,050.00 \$	\$ 22.00 \$	\$ 1,540.00	\$ 50.00 \$	\$ 3,500.00
P-160a	P-160a EXCAVATION OF PAVEMENT (AC)	SQUARE YARD	110	\$5 \$	\$ 550.00 \$	\$ 22.50 \$	\$ 2,475.00 \$	\$ 4.18 \$	\$ 459.80
P-209b	P-209b CRUSHED AGGREGATE BASE COURSE	TON	80	\$35	\$ 2,800.00 \$	\$ 60.00 \$	\$ 4,800.00 \$	\$ 53.00 \$	\$ 4,240.00
P-401h	P-401h HOT MIX ASPHALT TYPE II, CLASS E	TON	30	\$210 \$	\$ 6,300.00 \$	\$ 246.00 \$	\$ 7,380.00 \$	\$ 190.00 \$	\$ 5,700.00
P-501a	PORTLAND CEMENT CONCRETE PAVEMENT	CUBIC YARD	15	\$1,100	\$1,100 \$ 16,500.00 \$	\$ 1,172.00 \$	\$ 17,580.00 \$		1,230.00 \$ 18,450.00
1	Total Additive Atternate No. 1				\$ 27,200.00		\$ 33,775.00		\$ 32,349.80